


=




CONNECTING ELEMENTS 90 Degrees

>
.-///«
>

~
Tk s

'y

QUICK INSERT SET

i

N

Anchor

Anchor Connector-S
Connector-U

g

Inner Joint Angle

3 way joint




CONNECTING ELEMENTS ¢ SICA

ANGULAR
CONNECTORS
One Way Anchor
Connector
Inserts and Taps PARALLEL CONNECTORS




CONNECTING ELEMENTS

Material : die cast aluminium alloy

Die Cast Bracket

d
e f
|
\ éz
ol b | P
c /
4
ool &7 1)
| Fastening Set ‘ Fastening Set ‘ Fastening Set
M4x10 Bol M6x12 Boll
= ¢ zint;< plate(:"]t = ¢ zint):dplateud1 = ¢ L\:I:g ;?a?e%lt
¢ M4 H Nut ¢ M6 H: Nut ¢
@ nickela;glnaTeed' : @ nickelaprlnazed' : @ mgk:a;;nlar{::d; it
Size Fastening Set | Mass (g) Part No.
Description a b |c|d|e f
Die Cast Bracket PG20- 2020 25 8 85/ 19 | 5 8 A 21 06.DCB.2020
Die Cast Bracket PG30- 3030 27 1110 | 26 |65 6 B 21 08.DCB.3030
Die Cast Bracket PG40- 4040 36 |155(145| 36 |85 8 C 50 10.DCB.4040
Ergonomic . .
Modular Modular Workstation and ZI: dcggglgt?gd k/llgﬁg; gl)eoa:]
Assembly System Conveyor System Lean Production System System System

System

DIE CAST BRACKET

23




13XMOvyg 1SvD 3id

24

-

CONNECTING ELEMENTS

Material : die cast aluminium alloy

Die Cast Bracket

36
85 8
=
I 3 i
©
0
L )
L()_ | //
S : | 7
= | S
AN of L 7
$
= 0 ol % | )
L T 7 4
Fastening Set Fastening Set
@ ¢ M8 Hammer Nut é% ¢ M8 T Nut
Description Fastening Set Mass (g) Part No.
Die Cast Bracket-PG40-40x80 (pcs) 4AxFIAxG 125 10.DCB.4080
Ergonomic 8 .
Modular Modular Workstation and g/lnadcl‘él:(e:k(;t?;d klllg?ig:'n g::':
Assembly System Conveyor System Lean Production System System System

System




CONNECTING ELEMENTS

Die Cast Bracket

Material : die cast aluminium alloy

f
g i
%]
] I |
sl [ ]
h
C 7/
L /
d | | S
; ‘ /
¢ 5 I N 5 | ()
‘ Fastening Set ‘ Fastening Set
M8x20 Bolt M8x25 Bolt
zinc plated zinc plated
Sl || S
Size Fastening Set| Mass (g) | PartNo.
Description a b c d e f g| h i
Die Cast Bracket PG40- 8080 76 |15.5|16.5|205| 145| 76 | 40| 85| 8 AB 260 10.DCB.8080
Die Cast Bracket PG45- 9090 86 |23.5/16.5(235| 155 86 | 45|85 | 9 AB 390 10.DCB.9090
Ergonomic . .
Modular Modular Workstation and ZI: dcggglilﬂd k/llgﬁg; gl)eoa:]
Assembly System Conveyor System Lean Production System St S

System

DIE CAST BRACKET




CONNECTING ELEMENTS

Aluminium Angle

750 @Hole | Profile | Group | Part Code | Weight
5.5 20 X20 | 20 Group | 06.AA.2020 28 grams
6.5 30X 30 |30Group |08.AA.3030 35 grams
§ @ 6.5 30 X60 | 30Group |08.AA.3060 95 grams
— 8.5 40 X40 |40 Group | 10.AA.4040 50 grams
= Bz 85 |40X80 |40Group | 10.AA4080 | 120 grams
' ,]O.O_J 8.5 45X 45 | 45 Group | 10.AA.4545 58 grams

40.0

8.5 45X 90 |45Group | 10.AA.4590 142 grams

= M6 X 16 Bolt. Type
\w M6 Hammer Nut. A
Type
‘-‘ ] M8 X 20 Bolt.
| M8 Hammer Nut. B
Profile Group a Type | X Sheet
Thickness
20 X 20 20 Group 15 mm A - 2/3 mm
30 X 30 30 Group 20 mm A - 4/6 mm
30 X 60 30 Group 50 mm B 30 4/6 mm
40 X 40 40 Group 26 mm A - 6/8 mm
40 X 80 40 Group 66 mm B 40 6/8 mm
45 X 45 45 Group 31 mm A - 6/8 mm
45X 90 45 Group 76 mm B 45 6/8 mm
Modular Modular Ergonomic Machine Guard Linear Clean Room
www.sica.in Assembly Conveyor Workstation and and Enclosure Motion System
System System Lean Production System System
System



http://www.sica.in/
http://www.google.co.in/url?sa=i&rct=j&q=&esrc=s&source=images&cd=&cad=rja&uact=8&ved=0CAcQjRxqFQoTCOmIov_M6cgCFYOjlAodoNoOeQ&url=http://my.solidworks.com/search/tile/1?q=m6&category=f/product/screws&psig=AFQjCNGBEUt1kijellXsVF-xiHaj85-Q0Q&ust=1446274094178599
http://www.google.co.in/url?sa=i&rct=j&q=&esrc=s&source=images&cd=&cad=rja&uact=8&ved=0CAcQjRxqFQoTCMWl1KDN6cgCFYUalAodyUkNLA&url=http://www.tracepartsonline.net/partdetails.aspx?PartID=32-02042012-070482&class=NOSTA&clsid=/F_NOSTA/NOSTA.02/NOSTA.02.2/NOSTA.02.2.3/&psig=AFQjCNFyqauiMRJX-f8_b11ggcK3_Qky5A&ust=1446274164974455
http://www.google.co.in/url?sa=i&rct=j&q=&esrc=s&source=images&cd=&cad=rja&uact=8&ved=0CAcQjRxqFQoTCOmIov_M6cgCFYOjlAodoNoOeQ&url=http://my.solidworks.com/search/tile/1?q=m6&category=f/product/screws&psig=AFQjCNGBEUt1kijellXsVF-xiHaj85-Q0Q&ust=1446274094178599
http://www.google.co.in/url?sa=i&rct=j&q=&esrc=s&source=images&cd=&cad=rja&uact=8&ved=0CAcQjRxqFQoTCMWl1KDN6cgCFYUalAodyUkNLA&url=http://www.tracepartsonline.net/partdetails.aspx?PartID=32-02042012-070482&class=NOSTA&clsid=/F_NOSTA/NOSTA.02/NOSTA.02.2/NOSTA.02.2.3/&psig=AFQjCNFyqauiMRJX-f8_b11ggcK3_Qky5A&ust=1446274164974455

CONNECTING ELEMENTS

Hidden Bracket

Description Part No.
Hidden Bracket 08.HD.3030.S
Hidden Bracket 08.HD.3030.U
Hidden Bracket 10.HD.4040.S
Hidden Bracket 10.HD.4040.U
Hidden Bracket 10.HD.4545.S
Hidden Bracket 10.HD.4545.U
Hidden Bracket 10.HD.4080.S
Hidden Bracket 10.HD.4590.5

Ergonomic

Modular
Conveyor System

Modular
Assembly System

Workstation and
Lean Production
System

Machine Guard Linear Clean
and Enclosure Motion Room
System System System

HIDDEN BRACKET

29




13S LY3SNI MOIND

28

La@y

CONNECTING ELEMENTS

Quick Insert Set

Quick Insert Set can hide itself completely in aluminium profile bars, so its widely used to

set up clean frames.

20 Group Quick Insert Set

fad
SN

pa =)
b
=
=)

Tapping : 11 x Tmm

6.2 8.2 10.2 10.2

40 Group Quick Insert Set

Tapping : 13 X Tmm

6.2 8.2 10.2 10.2
2.0 22 4.0 6.0

Description Mass (g) Part No.
20 Group Quick Insert set 4 06.QI.SET
30 Group Quick Insert set 13 08.QI.SET
40 Group Quick Insert set 25 10.QI.SET
Ergonomic
Modular Modular Workstation and
Assembly System Conveyor System Lean Production

System

Machine Guard
and Enclosure
System

Linear
Motion
System

Clean
Room
System




J1ONV LNIOr

30

CONNECTING ELEMENTS

Joint Angle set (set screw pre installed)

Material : Nickel Plated steel for bracket
Nickel Plated steel for set screw

Modular
Assembly System

Modular
Conveyor System

Joint Angle

Step 1

s

Step 2 Step 3

set parts in position

tighten L1 set screw  tighten L2 set screw

Description Mass (g) Part No.

Joint Angle 6-A (with set screw) 6 06.JA

Joint Angle 8-A (with set screw) 18 08.JA

Joint Angle 10-A (with set screw) 36 10.JA
Ergonomic . .
Workstation and Me:jcrélnel Guard k/llne.ar glean
Lean Production and Enclosure otion oom

System System System

System




CONNECTING ELEMENTS

Anchor Connector Standard

Material : zinc plated steel

10.2
6.0
a
I
kT ¢ ) 1. ¢
m A
j ! | d
H S e
n /
S= ) (1-2)
o f
p
o]
| d
** e
f (1~2)
Description Material Mass (g/unit) Part No.
Anchor Connector-PG30-Standard zinc plated steel 39 08.AC.S
Anchor Connector-PG40-Standard zinc plated steel 58 10.AC.S
Size
Item a b| c| d e f g h i j | m|n|o p
Anchor Connector-PG30-Standard PG30 |30 |®12] 21 | PG30 | 2.2 | 45 | ®14|99.9| 32.2 8| 7 |912| 15 | 21
Anchor Connector-PG40-Standard PG40 |32 | @15 27 | PG40 | 4 | 52 | ®18|P11.9 36 10| 7 |®15| 20 | 27
Ergonomic . .
Modular Modular Workstation and 2": dcrl]EIE(?lc();sllj?;d k,'lggi:] gf:;
Assembly System Conveyor System Lean Production System System System

System

ANCHOR CONNECTOR STANDARD

-
(=]




La@y

CONNECTING ELEMENTS

VSYIAINN YOLDINNOD YOHINV

N
o

Anchor Connector Universal

Material : zinc plated steel

* oG JG /
n (1~2)
f
p
Description Material Mass (g/unit) Part No.
Anchor Connector-PG30-Universal zinc plated steel 38 08.AC.U
Anchor Connector-PG40-Universal zinc plated steel 58 10.AC.U
Size
Item a b| c|d e f g h i i k | m|n|o p
Anchor Connector-PG30-Universal PG30 |30 |®12| 21 | PG30 | 22 | 45 | 8 |99.9(322| 4 |®14| 7 [®12| 15 | 21
Anchor Connector-PG40-Universal PG40 |32 | d15| 27 | PG40 | 4 | 52 | 10 |d11.9 36 | 5 | P18 7 [P15| 20 | 27
Ergonomic . .
Modular Modular Workstation and mcgﬂgkiﬂféd k/llgﬁg; g::r';
Assembly System Conveyor System Lean Production System System System

System




INIOr AVM €

¢ SICA

CONNECTING ELEMENTS

3 Way Joint

Polyamide

Zinc alloy
—>
& ©
Size Part No.
Item a b

3 Way Joint PG2020 19.0 1.0 06.3W1.2020

3 Way Joint PG3030 28.5 1.5 08.3WJ.3030

3 Way Joint PG4040 38.0 2.0 10.3WJ.4040

3 Way Joint PG6060 56.5 3.5 10.3WJ.6060

Ergonomic .

: ; Modular Modular Workstation and Mnadcg:el Gu?rd
WWw.SICa.In Assembly System Conveyor System Lean Production a closure

System

System

Linear
Motion
System

Clean
Room
System



CONNECTING ELEMENTS

One Way Angle Anchor Connector

Material : zinc plated steel

10.2
6.0
b
c
m —
P
r _ d e
Ll n
(1~2)
T f A Rotate
1 (]
ﬁj a
-60°<0<60° P
q
Description Material Mass (g/unit) Part No.
One Way Angle Anchor Connector-PG30 zinc plated steel 55 08.0WAAC
One Way Angle Anchor Connector-PG40 zinc plated steel 72 10.0WAAC
Size
Item a b| c| d e f g h i j k | m|n|o pPlq

One Way Angle Anchor Connector-PG30 | PG30 | 30 | ®12| 21 | PG30 | 22 |388| 30 | 5 | a |®14| 22| 8 [$9.9|d12| 15 | 21

One Way Angle Anchor Connector-PG40 | PG40 |32 | 15| 27 | PG40 | 4 | 43 | 32| 6 | a |P18| 4 | 10 @11.9P15| 20 | 27

Ergonomic . .
Modular Modular Workstation and 2": dcgﬂagﬂd k,'lggi:] gf:;
Assembly System Conveyor System Lean Production System System System

System

ONE WAY ANGLE ANCHOR CONNECTOR

N
—_




La@y

CONNECTING ELEMENTS

YOLDINNOD YOHINV FTONV AVM OML

N
N

Two Way Angle Anchor Connector

Material : zinc plated steel

A-A Rotate

Description Material Mass (g/unit) Part No.
Two Way Angle Anchor Connector-PG30 zinc plated steel 63 08.TWAAC
Two Way Angle Anchor Connector-PG40 zinc plated steel 97 10.TWAAC
Size
Item a b| c| d e f g h i i k | m n m

Two Way Angle Anchor Connector-PG30 21 012 30| 30 | @12 | 21 [388| 30 [®9.9| 8 |P12| 15| 21 60°~180° | PG30

Two Way Angle Anchor Connector-PG40 27 |®15] 32| 32| ®15 | 27 | 43 | 32 |®11.9 10 P15 20 | 27 60°~180° | PG40

Ergonomic . .
Modular Modular Workstation and mcgﬂgkiﬂféd k/llgﬁg; g::r';
Assembly System Conveyor System Lean Production System System System

System




CONNECTING ELEMENTS

*Tapping not required

Modular Modular
Assembly System Conveyor System

Insert
Description TAP L(mm) ¢ (mm) Part No.
PG30 Insert 11x1mm 12 M5 08.IN.M5 v
(7]
PG30 Insert 11x1mm 12 M6 08.IN.M6 4
PG30 Insert 11x1mm 12 M8 08.IN.M8
PG40 Insert 13x1mm 16 M5 10.IN.M5
PG40 Insert 13x1mm 16 M6 10.IN.M6
PG40 Insert 13x1mm 16 M8 10.IN.M8
PG40 Insert 13x1mm 16 M10 10.IN.M10
]
[v]
=)
o
Q
(-2
o
Core Reducer S
Description L (mm) @ (mm) Part No.
PG30 Core Reducer 16 M5 08.CR.M5
PG40 Core Reducer 20 M5 10.CR.M5
PG40 Core Reducer 20 M6 10.CR.M6
&
[
Tap
8.2 PART NO.
2.2
TAP.11x1
33
30 SERIES
1‘?02 PART NO.
TAP.13x1
40 SERIES
ngg?zifn and Machine Guard Line_ar Clean
Lean Production and Enclosure Motion Room
System System System

System




dvd INIor

32

La@y

CONNECTING ELEMENTS

Joint Bar

Material : zinc plated steel for bar and set screw.

Linear Bar Connector-8

Linear Bar Connector-10

Description Mass (g) Part No.
Joint Bar - 8 (with set screw) 65 08.JB
Joint Bar - 10 (with set screw) 132 10.JB
Ergonomic . .
Modular Modular Workstation and gﬂnzcgsgl(iﬂ?;d k/llgﬁg; glc?:rrr:
Assembly System Conveyor System Lean Production System System System

System




¢ SICA

SICA INDIA
Head Office :

H2, Globe Complex, Anjur Road, Ovli Village, Bhiwandi, Thane 421 302,
Maharashtra INDIA. Customer care : +31 809 704 8313

email : infol@sica.in: Web : www.sica.in




	page1.pdf
	page 27.pdf
	summary.pdf
	DIE CAST BRACKET.pdf
	ALUMINIUM ANGLE.pdf
	HIDDEN BRACKET.pdf
	QIS.pdf
	JOINT ANGLE.pdf
	ANCHOR CONNECTOR STANDARD.pdf
	ANCHOR CONNECTOR UNIVERSAL.pdf
	3 Way Joint.pdf
	OWAAC.pdf
	TWAAC.pdf
	INSERT.pdf
	JOINT BAR.pdf
	lastpage.pdf

